SSYANGYONG

ACTYON

ACTYON I 11/2005 -->

ACTYON SPORTS 04/2007 -->

3

m 43 4P
o == 4 5 p
175v0100 208Y0100 208Y0100 175v0101
- -
4+ D
10SY0100 10SY0100
- =
4 2 p
10SY0105 10SY0105

__no /asweraicooe ] escrierion | weasures Jf  oem |

1 10SY0100 Ball Joint Upper th:M14x1.5 RHT cp:l/8 cs:317,6 do:d44 4593509000
2 10SY0105 Ball Joint Lower th:M16x1.5 RHT cp:1/8 ¢s:@17,4 4454109005
3 175Y0100 Tie Rod End Left ¢:@16 th:FM16x1,5 RHT 4666009002
4 178Y0101 Tie Rod End Right ¢:016 th:FM16x1,5 RHT 4666008011
5 208Y0100 Axial Joint th:MM16x1,5 RHT L:192,5mm 465 000 9005



SSYANGYONG

REXTON

REXTON 04 /2002 -->

10/2002 ->
-
.'EL
T =-n=anmﬂlll< 5 P-Il}:.aﬂﬂﬂ
17SY0100 205Y0100 20SY0100 17SY0101
= =
- < 1 ’ £
108Y0100 108Y0100
- Lower ~
03/2006 - 03/2007
%m, d : %
L 10SY0105 10SY0105 )
| o/ asmETAL coDE pescriprion | measires  J oem
1 10SY0100 Ball Joint Upper th:M14x1.5 RHT ¢p:1/8 ¢s:917,6 do:d44 4593509000
2 10SY0105 Ball Joint Lower th:M16x1.5 RHT cp:1/8 ¢s:417,4 4454109005
3 175Y0100 Tie Rod End Left ¢:016 th:FM16x1,5 RHT 4666009002
4 175Y0101 Tie Rod End Right ¢:916 th:FM16x1,5 RHT 4666008011
5 20SY0100 Axial Joint th:MM16x1,5 RHT L:192,5mm 465 000 9005

KYRON

05 /2005 -->

-

B iy e “’#

KYRON

4]

T)
A

===l <

175Y0100 20SY0100 20SY0100 175Y0101
- -
" s 4 1 D ' .
108Y0100 108Y0100
% 4: B %m_
108Y0105 108Y0105
| N0/ AsmETAL CoDE oescriprion | measures ' oem |
1 10SY0100 Ball Joint Upper th:M14x1.5 RHT ¢p:1/8 ¢s:17,6 do:ga4 4593509000
2 10SY0105 Ball Joint Lower th:M16x1.5 RHT cp:1/8 ¢s:@17,4 4454109005
3 175Y0100 Tie Rod End Left ¢:@16 th:FM16x1,5 RHT 4666009002
A 17SY0101 Tie Rod End Right ¢:016 th:FM16x1,5 RHT 4666008011
5 208Y0100 Axial Joint th:MM16x1,5 RHT L:192,5mm 465 000 9005



SSYANGYONG

SSYANGYONG

20SY0200 20SY0200

20SY0300 20SY0300

4 : p -W.:—
295Y0105

295Y0105

M asweraL coe | pescrierion B measures f oem |

20SY0200 Axial Joint th:MM16x1,5 RHT L:333mm 465 000 9005
20SY0300 Axial Joint th:MM16x1,5 RHT L:293mm 465 000 9006
29SY0105 Rod Assembly



